


a=3,b=-5%Y 1, 2a+4b ] G2

® -4 @ -12 ® -14 @ 6 ® 16






O 2b



a=-2 9, Tk F Ao gro] 7V 2 2L

@ 3a @ -a+2 @ 2a-3

@ 1+a? ® a?2-a



6. x—-2 W, the 4] gho] Lmix) Ut ok ShtE T2

@ 2x @ x-2 @ —x2

@ 4 -2x2 ® —%x:)’



@ 3a-4b+1
1
@ ax(—§b)+1



3
x3—4x+6 & 24, 0|2}

8.

® A5

5
<F

ol

® Al gho] &



Oha B7] § dd4s BF A8 A2?

H7]
@ a O 3x+b © -3
® ba+5 @ x*-1

0,60 006 006 ®6,6

® 6,0




10. oA 3x+2y -5 of tiste] @ = a, x o Alee b, &
ct S, a+b+c o H2?

@ -2 @ -1 ® 0 @ 1 ® 2



11.

k)

&, a—b+c o g7

4] 2 -85 of vi5to] 2%

=

SaxAAFE b



12. o34 3x+2y-5 of thot] @] M= a, x S A= b, A
ctad, a+b+c 9 FF2?

@ -2 @ -1 ® 0 @ 1 ® 2



R R 4 L b

@ y ol A%
@ o] 42ty o] A%



X —x+5 g A}FEa,
a+b+c 3k

14.

29

® 6

@ 5

® 4

@ 3

D 2



ol
R4
o}J
i
Nfo
o
ol
ojn

Aolet,
1o]e},

3

L
=

® 4x -5y

A
T

@ 4x% o] =}

=2 0 o]t

~
__OO

<k

wAO

T

@ x -6 °fA

= 0 o]t}

g

® —x+y-3 oA x2] A%e} y o] A%



@ 4dx + 2 o] A5 4x o[t

© 2x+5 832 -1 9 TFRI gl
® -x+2y-1 9] A5 g2 0 oltt.
® 5= waAolr,

@ 2ab+1 &) 4= 2 o[t

060 0606 06,6 ®60

® 6,0




ol
oS
ol

A 6x2+3x-1° it AFe=Z &

&

17. o

2 6x2, 3x, 1 o|th.

—~
__OO

A0] 24 3 o],

3

® o

@ 3x 9 A4 3 olck,



® x ] A5t - olt}.

ONQ) ® Q6 ® 606,
@ 9,6, ® 06,06



19.

o e
243004 x O ALE g, y? O A2 b, AR ¢ Bt
2

abe | #t& F-o1H?

O -12 @ -6 ® = @ 3 ® 6



20.

24277 o i ThE #719) AW F 0 AL BT 12W?

H7]

[0

3

s

@ &9 e 2 HolH
©® x o A= 1 ol

60,60 20206 006 ®oe 066



@ A4 3 olth

° BE 9 fo|t},



22. The-L Ao Tk Arolrt. £2 7L

A —x? 4 xy+ 5 9] 4L 1 olth,

A 2x =5+ 3x+y oA x & A= 2 ot

© ® © © ©
1

Al 5x3 — 4x%y + 2y — 3 2 y of] T3 o] x}A]o]Th,



A

=

2
6

oo
rlo
o

= OE= 7219

O —5x? 4+ 3x -2 9] &2 5x2, 3x, 2 o]t}
@ 3x-2y-5 A g2 -5 oJtt,
® 2x? —3x + 4 - 2x% 2 A} o},
1 )
® xx (~Ly) a9l B 3 Aol
® 2x—4y -3 A x &y o] A2 FL 8 o]t}



24, x=-2,y=4<4 o, —x? - xy °] F2?

O -12 @ -4 @0 @ 4 ® 12



a2

.;L

O
=

o 3

8
ab

a=-2,b=3<4d 24 -

25.

Ailllar)



— 2x—-3y+4z
-y-2z

K

— 1 d e

3,}’:_2,Z

X =

26.

olJ

™

® -y

X—2

O x+y

® x+y+z



27. tHA
F24] 532 — 11x — 7 © ths}
stof o] thet

b A} A~GFS Sk o] 7} ©
> o o =
C E] ﬂfl (Zb —-/] —
= E) C BA ?

1>
lo
B
>
it
Q

)
1o,

O -42
@ _
20 ® -3 @
5
® 11



28. o= AS A o, Aol Al v A] vl g she?

D 2ax (-4) @ 16x+ (2) ® gax (_%)



29. (4x-6)+2 S AXsHHE?

@ 2x-3 @ 2x+3 @ 3x-2

@ 3x+2 ® 3x+4



® 4x-6



@ 0.2x2 +x

D 6x+5
@_

Tyl
1



32. e 3 ANL BE 12 ALY

@ 0.5x+ 1 o *=y+i e =
2 2x
@ x(x+1) @ -2x% +x ® 2x-3y+1
O, 0 6 @ 6,0, 6
® 0,66 @ e, 0,6

©® 9,0,6,8,.0



33. ooz ex

2 o
B A2?

@O 2(x+1)=2x+2
@ B(X_]-):gx_g

® (3x-6)+3=x-2

@ 3(x_4):3x_12

@ (x+4)x2=x+8



op

12y?

@ 16y? + (-4)

D 2x3x2 = 5x2

@ (10x-15)+5=5x— 10

® 20y + 5 = 10y

® —12(

+1)=-2y-12

Y
6



35.

o 5 At A3 -3(2x + 1) I &

@ (-2x+1)x3
® -3(2x-1)
® (3x-6)+(-2)



—

x=-

36.

O x?



37.

x=-3,y=2% ufj, x2 —y? o] Zk2?

® -13 @ -8 ® -4

@ 1



ol
N
or

RelESY

ISR EA]

—

0
—

a=2,b=-

38.

® 2 @0 ® 3

@ 10






Az A Had A<

zm.xzéﬂmﬂwgiﬂﬂfﬂ%%%%
7=2H?
H7]
& ©-r ©e-- e2 o-
X X
D ® @, 0,0, 6 ® ® 0,0, 6 0
® ® 0, 06,6,0 @ ® 0, 0,0,0

© 866,006



